

ON A CERTAIN CLASS OF MEROMORPHIC FUNCTIONS ASSOCIATED WITH A DIFFERENTIAL OPERATOR

AO-EN AND SHU-HAI LI

Abstract. In this paper, we introduce and investigate a new class of meromorphic functions defined by a differential operator. For this class, we obtain coefficient inequality, distortion inequality, radius of close-to-convex, starlikeness and convexity, extreme points and integral means inequality.

1. Introduction

Let Σ^c denote the class of functions of the form

$$f(z) = \frac{a_0}{z-c} + \sum_{n=1}^{\infty} a_n z^n \quad (a_0 > 0, 0 \leq c < 1), \quad (1.1)$$

which are analytic in $U^* = \{z : c < |z| < 1\}$.

Also, by C_η^ε ($\eta \in \mathbb{R}$, $\varepsilon \in \{0, 1\}$), we denote the class of functions $f \in \Sigma^c$ of the form (1.1) for which (see [1])

$$\arg(a_n) = \varepsilon\pi - (n+1)\eta \quad (n \in \mathbb{N} = \{1, 2, \dots\}). \quad (1.2)$$

For $\eta = 0$, we obtain the classes C_0^0 and C_0^1 of functions with positive coefficients and negative coefficients respectively.

For two functions $f(z)$ and $g(z)$ which are analytic in U , we say that the function $f(z)$ is subordinate to $g(z)$ in U , and write as

$$f(z) \prec g(z), \quad z \in U,$$

if there exists a Schwarz function $\omega(z)$, which is analytic in U with

$$\omega(0) = 0 \text{ and } |\omega(z)| < 1 \quad (z \in U)$$

such that

$$f(z) = g(\omega(z)) \quad (z \in U).$$

Various subclasses of Σ^c when $c = 0$ were introduced and studied by many authors (see, [2]–[12]). In recent years, some subclasses of meromorphic functions associated with several families of integral operators and derivative operators were introduced

Mathematics subject classification (2010): 30C45.

Keywords and phrases: meromorphic functions, differential operator, coefficient inequality, distortion inequality, radius, extreme points, integral means inequality.

and investigated (see, for example [13,14] and [15]; see also [16] and [17]). The first differential operator for meromorphic function was introduced by Frasin and Darus [18]. In [19], Ghanim and Darus introduced a differential operator:

$$\begin{aligned}
 I^0 f(z) &= f(z), \\
 I^1 f(z) &= z f'(z) + \frac{a_0(2z - c)}{(z - c)^2}, \\
 I^2 f(z) &= z(I^1 f(z))' + \frac{a_0(2z - c)}{(z - c)^2}, \\
 I^k f(z) &= z(I^{(k-1)} f(z))' + \frac{a_0(2z - c)}{(z - c)^2},
 \end{aligned}$$

where $k \in N_0 = N \cup \{0\}$, $z \in U^*$.

If f is given by (1.1), then from the definition of the operator I^k , it is easy to see that

$$I^k f(z) = \frac{a_0}{z - c} + \sum_{n=1}^{\infty} n^k a_n z^n. \tag{1.3}$$

By using the operator I^k , some authors have established many subclasses of meromorphic functions, for example [19]–[22]. But second positive coefficient of some subclasses were fixed in these papers. In this paper we avoid the situation effectively. With the help of the differential operator I^k and making use of the method in [23], we define the following new class of analytic functions and obtain some interesting results.

Let $K_{i,j}(\alpha, A, B)$ denote the subclass of Σ^c consisting of function $f(z)$ which satisfies the following condition:

$$\left| \frac{I^i f(z)}{I^j f(z)} - \alpha \left| \frac{I^i f(z)}{I^j f(z)} - 1 \right| \prec \frac{1 + Az}{1 + Bz}, \tag{1.4}$$

where $\alpha \geq 0$, $-1 \leq B < A \leq 1$, $i \in N$, $j \in N_0 = N \cup \{0\}$, $z \in U^*$.

Moreover, let us define

$$CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B) = C_{\eta}^{\varepsilon} \bigcap K_{i,j}(\alpha, A, B) \tag{1.5}$$

The object of the present paper is to investigate the class $CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$. We provide coefficient inequality, distortion inequality, radius of close-to-convex, starlikeness and convexity, extreme points and integral means inequality for $CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$.

2. Coefficient inequality for the class

THEOREM 1. *A function $f(z) \in \Sigma^c$ is in the class $CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$ if and only if*

$$\sum_{n=1}^{\infty} \phi_{i,j}(n, c, \alpha, A, B) |a_n| \leq (A - B)a_0, \tag{2.1}$$

where

$$\begin{aligned} \phi_{i,j}(n, c, \alpha, A, B) &= [(1 + (1 + |B|)\alpha)|n^i - n^j| + |Bn^i - An^j|](1 + c) \\ &(\alpha \geq 0, -1 \leq B < A \leq 1, i \in N, j \in N_0 = N \cup \{0\}). \end{aligned} \tag{2.2}$$

Proof. Suppose that (2.1) is true for $\alpha \geq 0, -1 \leq B < A \leq 1$. For $f(z) \in \Sigma^c$, let us define the function $p(z)$ by

$$p(z) = \frac{I^i f(z)}{I^j f(z)} - \alpha \left| \frac{I^i f(z)}{I^j f(z)} - 1 \right|.$$

It suffices to show that

$$\left| \frac{p(z) - 1}{A - Bp(z)} \right| < 1 \quad (z \in U). \tag{2.3}$$

We note that

$$\begin{aligned} \left| \frac{p(z)-1}{A-Bp(z)} \right| &= \left| \frac{I^i f(z) - \alpha e^{i\theta} |I^i f(z) - I^j f(z)| - I^j f(z)}{AI^j f(z) - B(I^i f(z) - \alpha e^{i\theta} |I^i f(z) - I^j f(z)|)} \right| \\ &= \left| \frac{\sum_{n=1}^{\infty} (n^i - n^j) a_n z^n - \alpha e^{i\theta} \sum_{n=1}^{\infty} (n^i - n^j) a_n z^n}{(A-B) \frac{a_0}{z-c} - \sum_{n=1}^{\infty} (Bn^i - An^j) a_n z^n + B\alpha e^{i\theta} \sum_{n=1}^{\infty} (n^i - n^j) a_n z^n} \right| \\ &= \left| \frac{\sum_{n=1}^{\infty} (n^i - n^j) a_n (z^{n+1} - cz^n) - \alpha e^{i\theta} e^{i\psi} \sum_{n=1}^{\infty} (n^i - n^j) a_n (z^{n+1} - cz^n)}{(A-B)a_0 - \sum_{n=1}^{\infty} (Bn^i - An^j) a_n (z^{n+1} - cz^n) + B\alpha e^{i\theta} e^{i\psi} \sum_{n=1}^{\infty} (n^i - n^j) a_n (z^{n+1} - cz^n)} \right| \\ &\leq \frac{\sum_{n=1}^{\infty} |n^i - n^j| |a_n| (|z|^{n+1} + c|z|^n) + \alpha |e^{i(\theta+\psi)}| \sum_{n=1}^{\infty} |n^i - n^j| |a_n| (|z|^{n+1} + c|z|^n)}{(A-B)a_0 - \sum_{n=1}^{\infty} |Bn^i - An^j| |a_n| (|z|^{n+1} + c|z|^n) - |B|\alpha |e^{i(\theta+\psi)}| \sum_{n=1}^{\infty} |n^i - n^j| |a_n| (|z|^{n+1} + c|z|^n)} \\ &\leq \frac{(1+c)(1+\alpha) \sum_{n=1}^{\infty} |n^i - n^j| |a_n|}{(A-B)a_0 - \sum_{n=1}^{\infty} |Bn^i - An^j| |a_n| (1+c) - |B|\alpha \sum_{n=1}^{\infty} |n^i - n^j| |a_n| (1+c)}. \end{aligned}$$

The last expression is bounded above by 1, if

$$\begin{aligned} &(1 + c)(1 + \alpha) \sum_{n=1}^{\infty} |n^i - n^j| |a_n| \\ &\leq (A - B)a_0 - \sum_{n=1}^{\infty} |Bn^i - An^j| |a_n| (1 + c) - |B|\alpha \sum_{n=1}^{\infty} |n^i - n^j| |a_n| (1 + c) \end{aligned}$$

which is equivalent to our condition (2.1).

Conversely, we need only show that each function $f(z)$ of the class $CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$ satisfies the coefficient inequality (2.1). Let $f(z) \in CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$, then by (2.3) and (1.1), we obtain

$$\left| \frac{\sum_{n=1}^{\infty} (n^i - n^j) a_n (z^{n+1} - cz^n) - \alpha e^{i\theta} e^{i\psi} \left| \sum_{n=1}^{\infty} (n^i - n^j) a_n (z^{n+1} - cz^n) \right|}{(A - B)a_0 - \sum_{n=1}^{\infty} (Bn^i - An^j) |a_n| (z^{n+1} - cz^n) + B\alpha e^{i\theta} e^{i\psi} \left| \sum_{n=1}^{\infty} (n^i - n^j) a_n (z^{n+1} - cz^n) \right|} \right| < 1.$$

Therefore putting $z = re^{i\gamma} (0 \leq r < 1)$ we have

$$\frac{\sum_{n=1}^{\infty} |n^i - n^j| |a_n| (r^{n+1} + cr^n) + \alpha \sum_{n=1}^{\infty} |n^i - n^j| |a_n| (r^{n+1} + cr^n)}{(A - B)a_0 - \sum_{n=1}^{\infty} |Bn^i - An^j| |a_n| (r^{n+1} + cr^n) - |B|\alpha \sum_{n=1}^{\infty} |n^i - n^j| |a_n| (r^{n+1} + cr^n)} < 1.$$

It is clear that the denominator of the left hand said cannot vanish for $0 \leq r < 1$. Thus, we obtain

$$\sum_{n=1}^{\infty} [(1 + (1 + |B|)\alpha) |n^i - n^j| + |Bn^i - An^j|] (r^{n+1} + cr^n) |a_n| \leq (A - B)a_0,$$

which upon letting $r \rightarrow 1^-$, readily yields the assertion (2.1). This completes the proof of our theorem. \square

From Theorem 1 we have the following result.

COROLLARY 1. *If $f(z) \in CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$ and*

$$\phi_{i,j}(n, c, \alpha, A, B) \geq \phi_{i,j}(1, c, \alpha, A, B), \tag{2.4}$$

then we have

$$\sum_{n=1}^{\infty} |a_n| \leq \frac{a_0}{1 + c}.$$

Moreover, if

$$\phi_{i,j}(n, c, \alpha, A, B) \geq n\phi_{i,j}(1, c, \alpha, A, B), \tag{2.5}$$

then we have

$$\sum_{n=1}^{\infty} n|a_n| \leq \frac{a_0}{1 + c}.$$

3. Distortion theorem

THEOREM 2. *If $f(z)$ defined by (1.1) is in the class $CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$ for $|z| = r < 1$, and $\phi_{i,j}(n, c, \alpha, A, B)$ defined by (2.2) satisfies (2.4), then we have*

$$\frac{a_0}{|z-c|} - r \frac{a_0}{1+c} \leq |f(z)| \leq \frac{a_0}{|z-c|} + r \frac{a_0}{1+c}. \tag{3.1}$$

Moreover, if (2.5) holds, then

$$\frac{a_0}{|z-c|^2} - \frac{a_0}{1+c} \leq |f'(z)| \leq \frac{a_0}{|z-c|^2} + \frac{a_0}{1+c}. \tag{3.2}$$

Proof. Let $f(z)$ be given by (1.1). For $|z| = r < 1$, we have

$$|f(z)| \leq \frac{a_0}{|z-c|} + \sum_{n=1}^{\infty} |a_n| |z|^n \leq \frac{a_0}{|z-c|} + |z| \sum_{n=1}^{\infty} |a_n| = \frac{a_0}{|z-c|} + r \sum_{n=1}^{\infty} |a_n|$$

and

$$|f(z)| \geq \frac{a_0}{|z-c|} - \sum_{n=1}^{\infty} |a_n| |z|^n \geq \frac{a_0}{|z-c|} - |z| \sum_{n=1}^{\infty} |a_n| = \frac{a_0}{|z-c|} - r \sum_{n=1}^{\infty} |a_n|.$$

Then by Corollary 1 we get (3.1). Analogously we can prove (3.2). This completes the proof of our theorem. \square

4. Radius of close-to-convexity, Starlikeness and Convexity

We concentrate upon getting the radius of close-to-convexity, Starlikeness and Convexity.

THEOREM 3. *Let the function $f(z)$ defined by (1.1) be in the class $CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$. Then $f(z)$ is close-to-convex of order μ ($0 \leq \mu < 1$) in $|z-c| < |z| < r_1$, where*

$$r_1 = \inf_n \left\{ \frac{(1-\mu)\phi_{i,j}(n, c, \alpha, A, B)}{n(A-B)} \right\}^{\frac{1}{n+1}} \quad (n \geq 1)$$

and $\phi_{i,j}(n, c, \alpha, A, B)$ is given by (2.2).

Proof. We must show that

$$\left| \frac{(z-c)^2}{a_0} f'(z) + 1 \right| < 1 - \mu \quad (0 \leq \mu < 1) \tag{4.1}$$

for $|z| < r_1$. Note that

$$\left| \frac{(z-c)^2}{a_0} f'(z) + 1 \right| = \left| \sum_{n=1}^{\infty} \frac{na_n}{a_0} z^{n-1} (z-c)^2 \right| \leq \sum_{n=1}^{\infty} \frac{n|a_n|}{|a_0|} |z|^{n-1} |z-c|^2.$$

Thus for $|z - c| < |z| < r$, (4.1) holds true if

$$\sum_{n=1}^{\infty} \frac{nr^{n+1}}{a_0(1 - \mu)} |a_n| \leq 1. \tag{4.2}$$

By Theorem 1, we have

$$\sum_{n=1}^{\infty} \frac{\phi_{i,j}(n, c, \alpha, A, B)}{(A - B)a_0} |a_n| \leq 1. \tag{4.3}$$

Hence (4.2) will be true, if

$$\frac{n}{a_0(1 - \mu)} r^{n+1} \leq \frac{\phi_{i,j}(n, c, \alpha, A, B)}{(A - B)a_0},$$

or equivalently if

$$r \leq \left\{ \frac{(1 - \mu)\phi_{i,j}(n, c, \alpha, A, B)}{n(A - B)} \right\}^{\frac{1}{n+1}} \quad (n \geq 1). \tag{4.4}$$

The theorem follows from (4.4). \square

THEOREM 4. *Let the function $f(z)$ defined by (1.1) be in the class $CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$. Then $f(z)$ is starlike of η ($0 \leq \eta < 1$) in $|z - c| < |z| < r_2$, where*

$$r_2 = \inf_n \left\{ \frac{(1 - \eta)\phi_{i,j}(n, c, \alpha, A, B)}{(2 + n - \eta)(A - B)} \right\}^{\frac{1}{n+1}} \quad (n \geq 1)$$

and $\phi_{i,j}(n, c, \alpha, A, B)$ is given by (2.2).

Proof. It suffices to show that

$$\left| \frac{(z - c)f'(z)}{f(z)} + 1 \right| < 1 - \eta \quad (0 \leq \eta < 1) \tag{4.5}$$

for $|z| < r_2$. Note that

$$\begin{aligned} \left| \frac{(z - c)f'(z)}{f(z)} + 1 \right| &= \left| \frac{(z - c)\left(-\frac{a_0}{(z - c)^2} + \sum_{n=1}^{\infty} na_n z^{n-1}\right) + \frac{a_0}{z - c} + \sum_{n=1}^{\infty} a_n z^n}{\frac{a_0}{z - c} + \sum_{n=1}^{\infty} a_n z^n} \right| \\ &= \left| \frac{\sum_{n=1}^{\infty} na_n z^{n-1}(z - c)^2 + \sum_{n=1}^{\infty} a_n z^n(z - c)}{a_0 + \sum_{n=1}^{\infty} a_n z^n(z - c)} \right| \\ &\leq \frac{\sum_{n=1}^{\infty} n|a_n||z|^{n-1}|z - c|^2 + \sum_{n=1}^{\infty} |a_n||z|^n|z - c|}{a_0 - \sum_{n=1}^{\infty} |a_n||z|^n|z - c|}. \end{aligned}$$

Thus for $|z - c| < |z| < r$, (4.5) holds true if

$$\sum_{n=1}^{\infty} (n+1)|a_n|r^{n+1} \leq 1 - \eta(a_0 - \sum_{n=1}^{\infty} |a_n|r^{n+1})$$

or

$$\sum_{n=1}^{\infty} \frac{(2+n-\eta)r^{n+1}}{(1-\eta)a_0} |a_n| \leq 1.$$

By using (4.3), (4.5), we have

$$\frac{2+n-\eta}{(1-\eta)a_0} r^{n+1} \leq \frac{\phi_{i,j}(n, c, \alpha, A, B)}{(A-B)a_0},$$

or equivalently

$$r \leq \left\{ \frac{(1-\eta)\phi_{i,j}(n, c, \alpha, A, B)}{(2+n-\eta)(A-B)} \right\}^{\frac{1}{n+1}} \quad (n \geq 1). \tag{4.6}$$

The theorem follows from (4.6). \square

THEOREM 5. *Let the function $f(z)$ defined by (1.1) be in the class $CK_{\eta}^{\xi}(i, j; \alpha, A, B)$. Then $f(z)$ is convex of order ξ ($0 \leq \xi < 1$) in $|z - c| < |z| < r_3$, where*

$$r_3 = \inf_n \left\{ \frac{(1-\xi)\phi_{i,j}(n, c, \alpha, A, B)}{(n^2 + 2n - n\xi)(A-B)} \right\}^{\frac{1}{n+1}} \quad (n \geq 1)$$

and $\phi_{i,j}(n, c, \alpha, A, B)$ is given by (2.2).

Proof. It suffices to show that

$$\left| \frac{(z-c)f''(z)}{f'(z)} + 2 \right| < 1 - \xi \quad (0 \leq \xi < 1) \tag{4.7}$$

for $|z| < r_3$. Note that

$$\begin{aligned} \left| \frac{(z-c)f''(z)}{f'(z)} + 2 \right| &= \left| \frac{\sum_{n=1}^{\infty} n(n-1)a_n z^{n-2}(z-c) + \sum_{n=1}^{\infty} 2na_n z^{n-1}}{-\frac{a_0}{(z-c)^2} + \sum_{n=1}^{\infty} na_n z^{n-1}} \right| \\ &\leq \frac{\sum_{n=1}^{\infty} n(n-1)|a_n||z|^{n-2}|z-c|^3 + \sum_{n=1}^{\infty} 2n|a_n||z|^{n-1}|z-c|^2}{a_0 - \sum_{n=1}^{\infty} n|a_n||z|^{n-1}|z-c|^2}. \end{aligned}$$

Thus for $|z - c| < |z| < r$, (4.7) holds true if

$$\sum_{n=1}^{\infty} n(n-1)|a_n|r^{n+1} + \sum_{n=1}^{\infty} 2n|a_n|r^{n+1} \leq (1-\xi)(a_0 - \sum_{n=1}^{\infty} n|a_n|r^{n+1})$$

or

$$\sum_{n=1}^{\infty} \frac{(n^2 + 2n - n\xi)r^{n+1}}{(1 - \xi)a_0} |a_n| \leq 1. \quad (4.8)$$

By using (4.3), we get that (4.8) is true if

$$\frac{n^2 + 2n - n\xi}{(1 - \xi)a_0} r^{n+1} \leq \frac{\phi_{i,j}(n, c, \alpha, A, B)}{(A - B)a_0}$$

or equivalently

$$r \leq \left\{ \frac{(1 - \xi)\phi_{i,j}(n, c, \alpha, A, B)}{(n^2 + 2n - n\xi)(A - B)} \right\}^{\frac{1}{n+1}} \quad (n \geq 1).$$

And this completes the proof of the theorem. \square

5. Extreme points

THEOREM 6. *Let the function $f(z)$ be defined by (1.1). We define*

$$f_0(z) = \frac{a_0}{z - c},$$

$$f_n(z) = \frac{a_0}{z - c} + \frac{(A - B)a_0}{\phi_{i,j}(n, c, \alpha, A, B)} z^n \quad (n = 1, 2, 3, \dots), \quad (5.1)$$

where $\phi_{i,j}(n, c, \alpha, A, B)$ is defined by (2.2), then $f(z) \in CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$ if and only if it can be expressed in the form

$$f(z) = \sum_{n=0}^{\infty} \lambda_n f_n(z),$$

where $\lambda_n > 0$ and $\sum_{n=0}^{\infty} \lambda_n = 1$.

Proof. Suppose that

$$f(z) = \sum_{n=0}^{\infty} \lambda_n f_n(z) = \frac{a_0}{z - c} + \sum_{n=1}^{\infty} \lambda_n \frac{(A - B)a_0}{\phi_{i,j}(n, c, \alpha, A, B)} z^n.$$

Then

$$\begin{aligned} \sum_{n=1}^{\infty} \phi_{i,j}(n, c, \alpha, A, B) \left| \lambda_n \frac{(A - B)a_0}{\phi_{i,j}(n, c, \alpha, A, B)} \right| &= (A - B)a_0 \sum_{n=1}^{\infty} \lambda_n \\ &= (A - B)a_0(1 - \lambda_0) \\ &< (A - B)a_0. \end{aligned}$$

Thus $f(z) \in CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$.

Conversely, suppose that $f(z) \in CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$. By using Theorem 1, we get

$$|a_n| \leq \frac{(A - B)a_0}{\phi_{i,j}(n, c, \alpha, A, B)} \quad (n = 1, 2, 3, \dots),$$

we may set

$$\lambda_n = \frac{\phi_{i,j}(n, c, \alpha, A, B)}{(A - B)a_0} |a_n| \quad (n = 1, 2, 3, \dots),$$

and

$$\lambda_0 = 1 - \sum_{n=1}^{\infty} \lambda_n.$$

Then

$$f(z) = \sum_{n=0}^{\infty} \lambda_n f_n(z).$$

This completes the proof of the theorem. \square

6. Integral means inequality

LEMMA. (Littlewood [24]) *If $f(z)$ and $g(z)$ are analytic in U with $f(z) \prec g(z)$, then for $\mu > 0$ and $z = re^{i\theta}$ ($0 < r < 1$)*

$$\int_0^{2\pi} |f(z)|^{\mu} d\theta \leq \int_0^{2\pi} |g(z)|^{\mu} d\theta.$$

THEOREM 7. *Let $f(z) \in CK_{\eta}^{\varepsilon}(i, j; \alpha, A, B)$ and suppose that $f_n(z)$ is defined by (5.1). If there exists an analytic function $\omega(z)$ given by*

$$\{\omega(z)\}^n = \frac{\phi_{i,j}(n, c, \alpha, A, B)}{(A - B)a_0} \sum_{n=1}^{\infty} a_n z^n,$$

then for $\mu > 0$ and $z = re^{i\theta}$ ($0 < r < 1$),

$$\int_0^{2\pi} |f(re^{i\theta})|^{\mu} d\theta \leq \int_0^{2\pi} |f_n(re^{i\theta})|^{\mu} d\theta.$$

Proof. For $z = re^{i\theta}$ ($0 < r < 1$), we must show that

$$\int_0^{2\pi} \left| \frac{a_0}{z - c} + \sum_{n=1}^{\infty} a_n z^n \right|^{\mu} d\theta \leq \int_0^{2\pi} \left| \frac{a_0}{z - c} + \frac{A - B}{\phi_{i,j}(n, c, \alpha, A, B)} z^n \right|^{\mu} d\theta \quad (\mu > 0).$$

Thus by applying Littlewood's subordination theorem, it would suffice to show that

$$\frac{a_0}{z-c} + \sum_{n=1}^{\infty} a_n z^n \prec \frac{a_0}{z-c} + \frac{(A-B)a_0}{\phi_{i,j}(n,c,\alpha,A,B)} z^n.$$

By setting

$$\frac{a_0}{z-c} + \sum_{n=1}^{\infty} a_n z^n = \frac{a_0}{z-c} + \frac{(A-B)a_0}{\phi_{i,j}(n,c,\alpha,A,B)} \{\omega(z)\}^n,$$

we find that

$$\{\omega(z)\}^n = \frac{\phi_{i,j}(n,c,\alpha,A,B)}{(A-B)a_0} \sum_{n=1}^{\infty} a_n z^n,$$

which readily yields $\omega(0) = 0$. Therefore, we have

$$\begin{aligned} |\omega(z)|^n &= \left| \frac{\phi_{i,j}(n,c,\alpha,A,B)}{(A-B)a_0} \sum_{n=1}^{\infty} a_n z^n \right| \\ &\leq \frac{\phi_{i,j}(n,c,\alpha,A,B)}{(A-B)a_0} \sum_{n=1}^{\infty} |a_n| |z|^n \\ &\leq |z| \\ &< 1 \end{aligned}$$

by means of the hypothesis of the Theorem 7. \square

Acknowledgements

The present investigation was partly supported by the Natural Science Foundation of Inner Mongolia under Grant 2009MS0113 and Higher School Research Foundation of Inner Mongolia under Grant NJzy08150.

REFERENCES

- [1] J. DZIOK, *Classes of meromorphic functions defined by the hadamard product*, International Journal of mathematics and mathematics sciences, Volume **2010**, Article ID 302583, 11 pages.
- [2] CH. POMMERENKE, *On meromorphic starlike functions*, Pacific J. Math. **13** (1963), 221–235..
- [3] W. C. POYSTER, *Meromorphic starlike multivalent functions*, Trans. Am. Math. Soc. **107** (1963), 300–308.
- [4] J. E. MILLER, *Convex meromorphic mapping and related functions*, Proc. Amer. Math. Soc. **25** (1970), 220–22.
- [5] S. K. BAJPAI, *A note on a class of meromorphic univalent functions*, Rev. Roum. Math. Pures Appl. **22** (1977), 295–297.
- [6] M. L. MOGRA, T. R. REDDY, O. P. JUNEJA, *Meromorphic univalent functions with positive coefficients*, Bull. Austral. Math. Soc. **32** (1985), 161–176.
- [7] N. E. CHO, S. H. LEE, S. OWA, *A class of meromorphic univalent functions with positive coefficients*, Kobe J.Math. **4** (1987), 43–50.
- [8] M. K. AOUF, *A certain subclass of meromorphically starlike functions with positive coefficients*, Rend. Mat. **9** (1989), 225–235.

- [9] N. E. CHO, *On certain class of meromorphic functions with positive coefficients*, J. Inst. Math. Comput. Sci. **3**, 2 (1990), 119–125.
- [10] M. K. AOUF, *On a certain class of meromorphically univalent functions with positive coefficients*, Rend. Mat. **11** (1991), 209–219.
- [11] B. A. URALEGADDI, C. SOMANATHA, *New criteria for meromorphic starlike univalent functions*, Bull. Austral. Math. Soc. **43** (1991), 137–140.
- [12] H. M. SRIVASTAVA, S. OWA, *Current topics in analytic functions theory*, World Scientific, Singapore, 1992.
- [13] N. E. CHO, I. H. KIM, *Inclusion properties for certain classes of meromorphic functions associated with the generalized hypergeometric function*, Applied Mathematics and Computation **187** (2007), 115–121.
- [14] N. E. CHO, K. INAYATNOOR, *Inclusion properties for certain classes of meromorphic functions associated with the Choi-Saigo-Srivastava operator*, J. Math. Anal. Appl. **320** (2006), 779–786.
- [15] SHAO-MOU YUAN, ZAI-MING LIU, H. M. SRIVASTAVA, *Some inclusion relationships and integral-preserving properties of certain subclasses of meromorphic functions associated with a family of integral operators*, J. Math. Anal. Appl. **337** (2008), 505–515.
- [16] KRZYSZTOF, PIEJKO, JANUSZ SOKOL, *Subclasses of meromorphic functions associated with the Cho-Kwon-Srivastava operators*, J. Math. Anal. Appl. **337** (2008), 1261–1266.
- [17] WAGGAS GALIB ASTHAN, *Subclass of meromorphic functions with positive coefficients defined by Ruscheweyh derivative II*, Surveys in Math. and its Appl. **3** (2008), 67–77.
- [18] B. A. FRASIN, M. DARUS, *On certain meromorphic functions with positive coefficients*, Southeast Asian Bull. Math. **28** (2004), 615–623.
- [19] F. GHANIM, M. DARUS, *On certain subclass of meromorphic univalent functions with fixed residue*, Far East J. Math. Sci. **26** (2007), 195–207.
- [20] F. GHANIM, M. DARUS, *A new subclass of uniformly starlike and convex functions with with negative coefficients II*, Int. J. Pure Appl. Math. **45**, 4 (2008), 559–572.
- [21] R. M. EL-ASHWAH, M. K. AOUF, *Hardmard product of certain meromorphic starlike and convex functions*, Comput. Math. Appl. **57** (2009), 1102–1106.
- [22] F. GHANIM, M. DARUS, *On a certain subclass of meromorphic univalent functions with fixed second positive coefficients*, Sruveys in Mathematics and its Applications **5** (2010), 49–60.
- [23] S. H. LI, *H.Tang. Certain new classes of analytic functions defined by using the Salagean operator*, Bull. Math. Anal. Appl. **2** 4 (2010), 62–75.
- [24] J. E. LITTLEWOOD, *On inequalities in the theory of functions*, Proc. London Math. Soc. **23** (1925), 481–519.

(Received July 8, 2011)

Ao-En
Department of Mathematics
Northeastern University
Shenyang, Liaoning 110004
People's Republic of China
e-mail: cfxyaoen@sina.com

Shu-Hai Li
School of Mathematics and Statistics
Chifeng University
Chifeng, Inner Mongolia 024000
People's Republic of China
e-mail: lishms66@sina.com